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Topics

•  The Newton Method of solving a nonlinear function


• Numerical Integration


• Data Fitting by the least mean square method


• Checking four conditions of the Reduced Echelon Form


• Forming a reduced echelon form



• The Newton Method of solving a nonlinear function


•



Numerical Integration

http://134.208.26.59/2019NM/matlab_9_intergration.pdf


Data Fitting

http://134.208.26.59/2019NM/matlab_10_data%20fitting_source.pdf


• Checking four conditions of the Reduced Echelon Form


http://134.208.26.59/2019NM/matlab_11_reducedEchelonForm.pdf


Gauss Jordon Elimination

N

http://134.208.26.59/2019NM/Lecture7_LinearSystem-2.pdf


Body statements

Find the first non-zero element of col j from row I ro row M

Find the first non-zero element of col j from 
row I ro row M

Such element exists

Use it to create a leading one from row i

Use it to eliminate other elements 
in col j

for i = 1: M 
for j = pivot_col + 1 : N

end 
end  



function B=my_rref(A) 
B=A; 
[M N]=size(B); 
pivot_col = 0; 
for i = 1:M 
    for j=pivot_col+1:N 

            w=0; 
            for k=i:M 
                if B(k,j) ~= 0 
                    w=B(k,j); 
                    break; 
                end 
            end 
            if w~=0 
                temp=B(i,:); 
                B(i,:)=B(k,:); 
                B(k,:)=temp; 
                r=B(i,j); 
               B(i,:)=B(i,:)/r; 
               for p=1:M 
                    if (p~= i) & B(p,j)~=0 
                    B(p,:)=B(p,:)-B(i,:)*B(p,j); 
                    end 
               end  
               pivot_col = j; 
               break 
        end 
    end 
end

Find the first non-zero element of col j from 
row I ro row M
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in col j
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Newton’s method for 
solving nonlinear 

systems

http://134.208.26.59/2017NM/NM-Lecture12%20%E6%8B%B7%E8%B2%9D%202.pdf
http://134.208.26.59/2017NM/NM-Lecture12%20%E6%8B%B7%E8%B2%9D%202.pdf
http://134.208.26.59/2017NM/NM-Lecture12%20%E6%8B%B7%E8%B2%9D%202.pdf


Problem 1

https://www.youtube.com/watch?v=mRoAVZ2Ltj4&feature=youtu.be


Problem 2

https://www.youtube.com/watch?v=nJX8e1HiIOg&feature=youtu.be


Problem 3

https://www.youtube.com/watch?v=_tLgrPBnrXw&feature=youtu.be


Problem 4 & 5

https://www.youtube.com/watch?v=X8_phWEM5Ns&feature=youtu.be

